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6 Black holes
6.1 What are black holes?

00000000000 00DO0O0O0O0 180000000O0John MichelOODODOOOOOODO
tbooooobooooobooooboobobobobOobobOobOobOobOobOobOOobOobobonn
oboobooboobooboboooboooooboobOobOobOobOOobOOobOobobOobOobOoboOoDbon
gooooobooboobobooboboboboobobooboboobobobOobobOobUoDbOoD
obobooobooooboobobooobooboooobooboobooooboooboOooogon
gboooboooobooooooooboo

000000000000 00DOOO0O00DOOO0O00DODOO0OSchwarzschild OO0

2
ds® = (1 - Rf) Adt* — . dT& — r%(df? + sin? 0d¢?) (1)

oooobooogon

QGMBH
=3 (2)
O Schwarzshild O OO Mgy 000000000000 0O0OO0ODO0OOOOOODOOBHOOODO
000000 Einstein00000000000D000O00O0O00DO0O Bitkhof OODO '0000O
0000000o0booooooobo0obooobD 200000 NewtonOOOOGQOOoooooo
ogooooodo

Rs
C

e J0ODO0OOLOOODOODOOLOOODOODO
e 0D O0ODOODOODOODODDODOODLOODLOODLOODOODODOO

gboboobooooobobooooobooooboboooooboaon

l0Dpo000000D0000000D0000000000
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6.2 The Eddington limit
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Exercise 6.1
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0 2: Eddington O O (http://www.ppl.phys.chiba-u.jp/lecture/radiation/node2.html)
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Exercise 6.2
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Exercise 6.3
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